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QUESTION 1 (COMPULSORY)

1.1 MULTIPLE-CHOICE

111 B/

1.1.2 DI/

113 C/

114 A/

1.15 B/

utility v'v'

perfect competition v'v’
production possibility curve v'v’
opportunity cost v'v/

maximum prices v' v/ (5x2)(10)

1.2 MATCHING ITEMS

1.21 C/

1.2.2 F/

1.23 A/

1.2.4 E/

1.25 B/

a cash grant given to manufacturers to reduce the cost of
production v’

as the price of a product increases the demand for the product
decreases v’

guantities of goods or services produced do not meet the
consumers’ tastes and preferences v’

tax levied on goods that are harmful to society such as alcohol,
tobacco, etc. v’

the quantity of a good or service that producers are willing to
sell v (5x1)(5)

1.3 GIVE THE TERM

1.3.1 Complementary goods v

1.3.2 Black market v/

1.3.3 direct taxes v

1.3.4 Public goods v

1.3.5 South African Revenue Services v/ 5x1) (5
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SECTION B
QUESTION 2: MICROECONOMICS
2.1 Answer the following questions.

2.1.1 List any TWO examples of indirect taxes.
Excise duty/sin tax v/
VAT v
Import duty/custom duty v/
Stamp duty v
Transfer duty v
(Accept any other correct and relevant answer) 2x1)(2)

2.1.2 What is the effect of scarce resources on producers?
Producers have to make a choice on how to best use their limited
resources. vv’
(Accept any other correct and relevant response) 1x2)(2)

2.2 DATA RESPONSE

2.2.1 Identify a company that is responsible for supplying electricity in
South Africa from the cartoon above.
Eskom v (2)

2.2.2 Name the institution that regulates energy in South Africa.
National Energy Regulator of South Africa/NERSAY (1)

2.2.3 Briefly describe the term monopoly.
A market structure that consists of only seller. v'v/
(Accept any other correct and relevant response) (2)

2.2.4 Why is Eskom regarded as a monopoly in South Africa?
Eskom is a near monopoly as it is the single producer of electricity in
South Africa/ It supplies the entire country with electricity. v'v’
(Accept any other correct and relevant response) (2)

2.2.5 Why do state-owned monopolies in South Africa find it difficult to
achieve an economic profit?
e There is a lack of accountability and no measures to counter
corruption and mismanagement. v'v/
e Most SOEs rely on government bailouts to stay afloat. v'v'
(Accept any other correct and relevant response) (2x2)4)
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2.3 DATA RESPONSE

2.3.1 Name any ONE form of utility.
Utility of form v/
Utility of place v
Utility of time v/
Utility of possession v/ (2)

2.3.2 Identify the chocolate bar with a marginal utility of “0”.
5% chocolate bar v (1)

2.3.3 Briefly describe the term value.
Value is the maximum amount of money a person is willing and able to
pay for goods or services. v’ v/
(Accept any other correct and relevant response) (2)

2.3.4 What happens to total utility when the 6th chocolate bar is

consumed?
Total utility starts to decrease and the 6™ chocolate bar gives negative
utility/disutility. v v/ (2)

2.3.5 Explain the relationship between utility and the demand of a
product?
e The greater the satisfaction gained from consuming a product, the
greater the demand of a product. v'v*
e Consumers demand more of the product that matches their
expectation with the satisfaction. v' v/
(Accept any other correct and relevant response) 4)

2.4  Discuss in detail the functions of the markets.
e Markets bring supply and demand together v/
- Markets are the interaction of consumers and producers to
negotiate prices and exchange goods and services. v’V
- Because markets create contact between consumers and
producers, it is in markets that supply and demand comes
together. v'v/
- Through the interaction of demand and supply, prices are
determined. v'v’
- Markets therefore serve a price-forming function. v'v/
e Markets lead to an efficient allocation of resources v
- Market prices direct the economic decisions of both consumers
and producers. v'v’
- Producers will consider the relative prices of goods and services
before they decide what, how and for whom to produce. v'v/

- Producers make these decisions so as to maximize their profits.
vV

- Consumers, in contrast, will consider the relative prices of goods
and services before they decide how to spend their money. v'v/
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- \C/:o/nsumers make these decisions so as to maximize their utility.

- Profit maximization and utility maximization lead to an efficient
allocation of resources. v'v'

Markets are self-regulatoryv’

- Prices are determined by the forces of supply and demand. v'v'

- Markets do not require any direct intervention or control from
outside forces. vV’

- They are said to be guided by "an invisible hand", which ensures
that prices are set in such a way that resources are allocated
efficiently. v'v/

- In the absence of markets, some regulating body would have to
decide what goods would be produced, in what quantities, and
for what price. v'v/

- Within markets, these decisions are made automatically. v'v*
(Accept any other correct relevant response) (8)
(Allocate a maximum of 4 marks for mere listing of facts)

2.5 How would a subsidy on petrol benefit the economy?

More cars/vehicles will be demanded and produced. v'v

The price of petrol will decrease and petrol will be affordable v'v*
Transport and travelling costs will decrease due to a drop in the price of
petrol v'v’

Production capacity of the country will increase/Real GDP will increase
vV

The general price level of goods and services will decrease/inflation
rate will decreasev'v’

(Accept any other correct relevant response) (8)
(Allocate a maximum of 2 marks for mere listing of facts/examples)
[40]

QUESTION 3: MICROECONOMICS

3.1 Answer the following questions.

3.1.1

3.1.2

Name TWO types of inefficiencies.
Allocative v/
Productive / technical/ Paretov’ 2x1) (2

How do climatic conditions affect the supply of agricultural
produce?

During cold conditions, suppliers will produce and supply more of
products which will keep consumers warm e.g. jackets, boots, heaters,
soup etc. v'v'

During hot conditions, suppliers will produce and supply more of
products which will keep consumers cool e.g. umbrellas, ice cream,
cold drinks etc. v'v/

Farmers will supply less during unfavourable climatic conditions e.g.
droughts, floods etc. v'v

(Accept any other correct and relevant response) 1x2)(2)
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3.2 DATA RESPONSE

3.2.1 What is the opportunity cost of increasing the production of
consumer goods from 1 - 2?
It is a decrease of 2 units of capital goods (14-12) v Q)

3.2.2 If all the factors of production were spent in the production of
capital goods, how many goods would be produced?
15 v 1)

3.2.3 Briefly describe the term production.
Production refers to the transformation of raw materials into finished
goods.v'v
(Accept any other correct and relevant response) (2)

3.2.4 What is the effect of an outward shift of the production possibility
curve on the economy?
It indicates increased production and possibly higher profits. v* v/
(Accept any other correct and relevant response) (2)

3.2.5 Use the information from the table above to construct a fully
labelled production possibility curve.

Production Possibility Curve

B PPC

A combinaftion that is unattainable
14 with current resources

A combination that is N

a inefficient \

B ~ H g

4 \
?

0

Capital Goods

Consumer Goods

Mark allocation

Correct shape of PPC =1 mark
Labelling of axis =1 mark
Labelling on axis =1 mark
Indication of inefficient point =1 mark

Indication of unattainable point = 1 mark
Max 4 marks
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3.3 DATA RESPONSE

3.3.1 Identify the market price in the table above.
R600 v/ 1)

3.3.2 Name ONE factor that influences the demand for goods and
services.
The price of the product v
The price of related products v
The income of the consumer v
Tastes and preferences of the consumer v
The size of households v
The weather conditions v (1)

3.3.3 Briefly describe the term utility.
The degree of satisfaction that a household or consumer derives or
expects to derive from the consumption of a good or service. v'v/
(Accept any other correct and relevant response) (2)

3.3.4 Why would the quantity supplied increase when the price of
sneakers increases?
e The supply of sneakers increase when the price increase because
suppliers receive enough money to produce more products. v'v/
e The price increase encourages more businesses to enter into the
market of sneakers. v'v/
(Accept any other correct and relevant response) (2)

3.3.5 Use the above table to draw the original demand and supply
curves on the same set of axes.
DEMAND AND SUPPLY CURVES

1200 4
Demand
1000

800

600

PRICE

400

200

25 35 45 55 65
QUANTITY DEMANDED AND SUPPLIED
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Mark allocation
Heading = 1 mark
Labelling on and of axes = 1 mark
Labelling of demand curve = 1 mark
Labelling of supply curve = 1 mark
Max 4 marks

3.4 Discuss external reasons why a Production Possibility Curve (PPC)
will move to the right.
The quality of factors of production v'v/
Efficient transport services v'v/
Efficient communication systems v'v/
Health care which leads to healthier workers v'v/
(Accept any other correct and relevant response)
(Allocate a maximum of 4 marks for mere listing of facts) (8)

3.5 Analyse the impact of the Covid-19 outbreak had on the hand sanitizer
market.

e The Covid-19 outbreak led to a huge uptick in the demand for hand
sanitizers globally. v'v/

¢ The demand for hand sanitizers was steady for the past few months
since the outbreak of the virus in China, early in 2020. v'v'

e A sudden spike in demand was observed as the cases surged in the
U.S., Italy, UK and other countries. v'v/

e As the virus began to spread widely across the globe, people started to
‘panic-buy’ hand sanitizers as a preventive measure. v'v’

e The ‘panic-buying’ of hand sanitizers led to a serious shortage of hand
sanitizers world- wide as the majority of retailers and chemist stores ran
out of stock. v'v’

e Manufacturers faced challenges to their normal supply chains from
increasing demand for the raw ingredients needed to meet
unprecedented and urgent demand during the Covid-19 outbreak. v'v’

e To solve the problem, some of the retailers limited the number of
\p/l{/rchase per customer in order to serve as many people as possible.

¢ Black markets developed where hand sanitizers were sold illegally at
higher prices due to the increased demand. v'v/

¢ Due to shortages, consumers were encouraged to wash hands with
soap and water regularly and thoroughly. v'v/

e The increase in demand followed by less supply of hand sanitizers led
to abnormal increase in the price of hand sanitizers. v'v/

(Accept any other correct and relevant response) (8)
(Allocate a maximum of 2 marks for mere listing of facts/examples)
[40]

TOTAL SECTION B: 40
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SECTION C
QUESTION 4: MICROECONOMICS
e Compare and contrast perfect market and imperfect markets. (26)

e How can the government protect consumers against exploitation by
imperfect markets? (20)

INTRODUCTION

A market is a mechanism that brings together the buyers and sellers of goods and
services/ market structure refers to how the market is organised.v'v’
(Accept any other correct relevant introduction) (Max. 2)

BODY
MAIN PART

Number of businesses v/

e A perfect market consists of a large number of firms v" whereas the number
ranges from one (monopoly), few (oligopoly) and many (monopolistic competition)
v

Nature of the product v

e Under a perfect market, firms produce homogeneous products which are identical
in terms of the quality, appearance, packaging, ingredients v whereas the nature
of the product ranges from unique (monopoly) homogenous/differentiated
(oligopoly) and differentiated (monopolistic competition) v*

Control over the pricev’

¢ In a perfect market firms are price takers because the prices are determined by
market forces of demand and supply v" whereas firms have some degree of
control over price which range from little (monopolistic competition), considerable
(oligopoly) to full control (monopoly), under imperfect market v/

Demand curves v
e The demand curve for an individual seller in a perfect market is horizontal
where D = MR = AR whereas the demand curve for the forms under imperfect
market is downward sloping from top left to bottom right v/

Entry and exit v’
e Entry and exit is completely free under perfect market v" whilst it ranges from
relatively easy to completely blocked under imperfect markets. v

Information v

e Information is complete under perfect market and monopoly v' whereas it is
incomplete under oligopoly and monopolistic competition v/
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Economic profit/loss v
¢ In the short run, perfect competition and monopolistic competition make either
economic profit or economic loss and normal profit in the long run v whereas
the monopolist and oligopolist can make economic profit or economic loss in
the short run and make economic profit in the long run v/

Decision-making v’
e Firms in perfect markets rely on market forces for decision-making v~ whilst
decisions are taken mostly by shareholders and board of directors under
imperfect market v/

Collusion v
e Collusion does not exist in a perfect market v' whereas it is only possible
under oligopoly in an imperfect market v/

Productive/technical efficiency v
e It only exists in a perfect market as firms in this market always produce at the
lowest possible cost v" and it does not exist in an imperfect market as firms in
this market do not produce at the lowest possible costs. v’

Allocative efficiency v/

e It only exists in a perfect market as firms in this market always sell at the price
that is equal to the marginal cost and according to the tastes and preferences
of consumersv” and it does not exist in an imperfect market as firms in this
market always sell at a price that is higher than their marginal costs. v

(A maximum of 8 marks can be allocated for mere listing of facts/examples)

(Max. 26)
ADDITIONAL PART

e The government can investigate charging of abnormal prices and impose fines
to firms affected. v'v/

e The government can investigate price fixing by oligopolists and impose fines
on them. v'v/

e Laws can be passed that encourage competition and make goods to be
affordable. v'v’

e The government can provide information about prices of goods and services
where information is incomplete/government can provide information services
to businesses v'v' such as technical advice, information on markets etc. v/

e Through the competition policies, the government can prevent illegal merging
of large business undertakings. v'v’

(Accept any other correct and relevant response) (Max. 10)
(A maximum of 2 marks may be allocated for mere listing of facts)
CONCLUSION

o Markets play a vital role in the economy. Market failure will always occur in an
economy but it can be solved through government intervention. v'v/

(Accept any other correct relevant conclusion) (Max. 2)
[40]
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QUESTION 5: MICROECONOMICS

e Discuss in detail the methods that the government uses to intervene in

the economy. (26)
e Why does the government need to intervene in the economy? (20)
INTRODUCTION

Government intervenes in the market to optimise production and the allocation of
resources. v'v'/The public sector or government includes all aspects of local, regional
and national government. v'v'

(Accept any other correct relevant introduction) (Max. 2)

MAIN PART
Indirect tax v/
e Anindirect tax is paid indirectly by consumers through the purchase of goods
and service vV
e There are three kinds of indirect tax, e.g. VAT, excise duties —charged on
locally produced goods and custom duties which are charged on imports v'v/
e By imposing the tax, the government directly influences the price which
increases the price the consumer pays v'v/
Subsidies v
e The government provides subsidies to producers in order to encourage them
to increase the production of goods. Supply increases v'v’
e Producer subsidies are often given to suppliers of agricultural products such
as milk, wheat and maize v
e Subsidies lower the cost of producing goods and thus the market price of
these goods is lowered (products are sold cheaper) vv/
¢ In South Africa there are four types of subsidies:
- production,
- employment
- export
- income subsidies
Welfare v/
¢ Due to the uneven distribution of wealth, welfare grants are provided for
people to meet their basic needs v'v
e The government provides merit goods and also supplements the income of
poor people v'v
e Cash grants e.g. old-age pensions, disability and childcare grants are used v
Production v/
e Government provides goods and services which are not provided by the
private sector v'v’
e These goods are non-rival and non-excludable, e.g. protection services, parks,
streets, refuse removal v
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Minimum wages v

L
& D s Mark allocation
g Correct position and indication
w. Minimum | | Of minimum wage = 1 mark
Wage Labelling of axis = 1 mark
w v Labelling on axis = 1 mark
Indication of equilibrium point —
1 mark
s
D
’ Qq Q Q QUANTITY

e When the government enforces a minimum wage, it means workers have to
be paid a certain wage amount and not anything less than this v'v/

e The reason for this is that workers should earn wages which is enough to
cover the basic cost of living v'v/

e This helps to protect workers and re-allocate resources v'v/

e In 2002 minimum wages were introduced for domestic workers v'v/

e This was also extended for farm workers and also to non-unionised industries
Vv

Maximum prices v

w .
O D S Mark allocation
o " . . .
o Correct position and indication
of maximum price = 1 mark
5 Correct indication and labelling
b of shortage = 1 mark
Labelling of and on axis = 1
P Ma'ximumii mark
! Prics Indication of equilibrium point —
«—F> 1 mark
S Shortage
; D
;
. Q, Q Q, QUANTITY

e A maximum price is set on goods such as basic foods, housing and transport.
vV

¢ In South Africa the price of petrol, diesel fuel and paraffin are controlled at
their maximum prices. v'v/

o Initially the market equilibrium price is P and equilibrium quantity is Q. v'v/

e The government intervenes and passes a law that a certain product such as
milk cannot be sold for more than P1. v'v/
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e The effect of this maximum price is that quantity supplied decreases to Q1 and
guantity demanded increases to Q2. vV

e There is a shortage of the product (milk) equal to the difference between Q1
and Q2. vv

e A shortage creates a problem of how to allocate the product (milk) to
consumers. v'v/

e Black markets often develop where people can obtain the product (milk). (A
black market is an illegal market in which either illegal goods are bought and
sold or illegal prices are charged.) vv’

e Maximum prices may cause a shortage of goods but they do improve the
welfare of some consumers since goods can be purchased at lower prices. v'v/

Minimum prices v’

g D it |2 Mark_allocati_on_ _
> ' B Correct position and indication
P price | of minimum price = 1 mark
P e , Correct indication and labelling
of surplus = 1 mark
Labelling of and on axis = 1
p— 4 mark
D Indication of equilibrium point =
1 mark
Q4 Q Q2 QUANTITY

e The government sets a minimum price at some point above the market price.
v

e This is done to enable producers to make a comfortable profit and thus
encourages them to supply important essential goods. v'v/

e The market equilibrium price is P and the equilibrium quantity is Q. vV

¢ |f the government sets a minimum price at P1, suppliers will be able to earn
greater profits and supply more of the product. v'v/

e Quantity supplied will therefore increase to Q2, however, quantity demanded
will decrease to Q1. vV

e There would be a surplus of the product equal to the difference between Q2
and Q1. vv

e A surplus means the government will have to buy the extra wheat and dump it
locally or abroad. v'v/

e Although minimum prices may cause a surplus they do encourage the supply
of important food stuffs. v'v'
(A maximum of 8 marks may be allocated for mere listing of
facts/examples) (26 marks)
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ADDITIONAL PART
Why does the government need to intervene in the economy?

To correct inefficiencies in the economy such as monopolies, distribution of
wealth. v'v’

The market is not able to provide goods and services for the people e.g.
health services and infrastructure/to supply essential services which are
undersupplied by the market such as health, education. v'v*

To prevent unequal opportunities in the marketplace/ to create fair competition
by investigating collusion, excessive prices, merging of large business
undertakings. v'v/

To guard against market prices that may be detrimental to the economy's
economic health. v'v/

To improve the level of welfare by financing a system of grants payable to the
poorest members of the society. v'v’

To manage strategic industries in the country such as power generation, water
supplies and transport infrastructure. v'v/

To correct market failures which result in insufficient supply of essential goods
and services to promote fair treatment of workers and prevent exploitation, so
it sets minimum wages and maximum working hours. v'v/

(Accept any other correct and relevant response) (Max. 10)
(A maximum of 2 marks may be allocated for mere listing of
facts/examples)

CONCLUSION

The intervention of government ensures that inefficiencies is eliminated and

that the market is operating effectively. v'v/

(Accept any other correct relevant conclusion) (Max. 2)
[40]

TOTAL SECTION C: 40
GRAND TOTAL: 100
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